ALGEBRA I Quiz 3.1

[image: image1.png]- The owner of a small computer repair business has one employee,
who is paid an hourly rate of $22. The owner estimates his weekly
profit using the function P(x) = 8600 — 22x. In this function, x

represents the number of
(4) computers repaired per week
(B)hours worked per week
(C) customers served per week
(D) days worked per week

- Krystal was given $3000 when she turned 2 years old. Her parents
invested it at a 2% interest rate compounded annually. No deposits or
withdrawals were made. Which expression can be used to determine
how much money Krystal had in the account when she turned 18?

(4)3000(1 + 0.02)'¢ (©)3000(1 + 0.02)'®
(B)3000(1 — 0.02)6 (D)3000(1 - 0.02)®



[image: image2.png]3.Which table of values represents a lincar relationship?
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4. Which domain would be the most appropriate set to use for a
function that predicts the number of household online-devices in
terms of the number of people in the household?

(A) integers (Cirrational numbers
(B) whole numbers (D)rational numbers




[image: image3.png]5. The inequality 7 — 2x < x — 8 is equivalent to

@x>9 ©x<9
3 3
®Bx>-% Ox<-%
6. The value in dollars, v(x), of a certain car after x yoa

by the equation v(x) = 25,000(0.86). To the nearest dollar,
how much more is the car worth after 2 years than after 3 years?

(4)2589 (©)15,901
(B)6510 (D)18,490




7. Holly is going into business as a sidewalk ice cream vendor. The start-up cost for her refrigerated cart and her sales permit is $600. She also purchased 500 ice cream items at $0.55 each. Holly sells each ice cream item for $1.50 each. Which equation represents Holly’s profit, y, based on the number of ice cream items, x, she sells?




(1 point)
A. y = 0.95x – 100

B. y = 0.95x – 605

C. y = 1.50x – 875

D. y = 1.50x – 1100
[image: image4.png]8. Which function has the same y-intercept as the graph below?

y
A

@y= 25 ©f +x=18
(B) 27 + 3y = 6x D)y +3=6x

9. Fred is given a rectangular piece of paper. If the length of Fred’s
piece of paper is represented by 2x — 6 and the width is represented
by 3¢ — 5, then the paper has a total area represented by

@)5x — 11 (©10x — 22
(B)6x> — 28x + 30 (D)6x? — 6x — 11




10.
Every year, Caleb’s grandmother gives him $50 for his birthday.

What type of function can be used to represent the total amount of money Caleb has received for his birthdays?

A. Cubic

B. Exponential

C. Linear
D. Quadratic









[image: image5.png]11. How does the graph of fix) = 3(x — 2)* + 1 compare to the graph
of glx) = 22

@) The graph of fix) is wider than the graph of g(x), and its vertex
is moved to the left 2 units and up I unit.

“The graph of flx) is narrower than the graph of g(x), and its vertex
is moved to the right 2 units and up 1 unit.

© The graph of f(x) is narrower than the graph of g(x), and its vertex
is moved to the left 2 units and up 1 unit.

) “The graph of f(x) is wider than the graph of g(x), and its vertex is
moved to the right 2 units and up 1 unit.



[image: image6.png]12.Connor wants to attend the town carnival. The price of admission to
the carnival is $4.50, and each ride costs an additional 79 cents.
If he can spend at most $16.00 at the carnival, which inequality can
be used to solve for r, the number of rides Connor can go on, and
what is the maximum number of rides he can go on?

(A) 0.79 + 4.50r < 16.00; 3 rides
(B) 0.79 + 4.50r < 16.00; 4 rides
(©) 4.50 + 0.79r < 16.
(D) 450 + 0.79r < 16.





[image: image7.png]13.Some banks charge a fee on savings accounts that are left inactive
for an extended period of time. The equation y = 5000(0.98)
represents the value, y, of one account that was left inactive for a
period of x years.

What is the y-intercept of this equation and what does it represent?
(4) 0.98, the percent of money in the account initially

(B) 0.98, the percent of money in the account after x years

() 5000, the amount of money in the account initially

(D) 5000, the amount of money in the account alter x years




[image: image8.png]14.The equation for the volume of a cylinder is V = arh. The positive
value of r, in terms of h and V, is

v

@ =y (©r = 2Vmh
(8) r = Vah or=Y

2

15.Two functions, y = [x — 3| and 3x + 3y = 27, are graphed on the
same set of axes. Which statement is true about the solution to the
system of equations?

@) (3,0) is the solution to the system because it satisfies the equation
y=lx=3

() (90)is the solution to the system because it satisfies the equation
3x + 3y = 27.

(C) (6,3) s the solution to the system because it satisfies both equations.

(D) (3,0), (9,0), and (6,3) are the solutions to the system of equations
because they all satisly at least one of the equations.




16.
Which expression is equivalent to (3x2 – x – 2) – (–5x2 – 2x – 4)?



A. -2x2 – x – 2

B. -2x2 – 3x – 6

C. 8x2 + x + 2

D. 8x2 + 3x + 6

[image: image9.png]17.1n 2013, the United States Postal Service charged $0.46 to mail a
letter weighing up to 1 0z and $0.20 per ounce for each additional
ounce. Which function would determine the cost, in dollars, of
mailing a letter weighing z ounces where z is an
than 1?7

@A)elz) = 0.462 + 0.20 (©elz) = 0.46(z — 1) + 0.20
(Bc(z) = 0.20: + 0.46 (De(z) = 020 — 1) + 0.46

gre:

18.1f a sequence is defined recursively by f(0) = 2 and
fin + 1) = =2f(n) + 3 for n = 0, then f(2) is equal to

@1 ©5
(B —11 )17






19.
The wallpaper border that runs all the way around a room is -7x – 5x4 + 5 long. Three sides of the room have the following lengths of border: 16x4, -23x4 ( 5, -9x. What is the length of the fourth side of the room?  







(2 points)

20.
Given:
 








(1 point)
[image: image10.png](x5 +4x3) = (53 - 73)




Give an expression equivalent to the given expression.

21.
Let P(x) = 3x2 + 5x – 6 and R(x) = –2x2 + 3x + 7. 



(1 point)
Find P(x) – R(x) in simplest form.

22.
Ricky is building a rectangular garden with an area of 100 square feet. He wants the length of the garden to equal 4 feet more than 2 times the width.  Give an equation that expresses the area of the garden in terms of the width, w, of the garden.



(2 points)

23.
The Johnson’s want to cover their backyard with new grass. Their backyard is rectangular, with a length of 3x – 5 feet and a width of 4x + 10 feet. However, in their backyard they have a rectangular swimming pool with dimensions of 2x – 8 feet by 6x – 2 feet.  Write, in simplified form, an expression for the area of the part of the yard that they want to cover with new grass.



(2 points)


24.
Christina is using her computer to design invitations to her birthday party. The text of the invitation is contained in a rectangle with base of 9.5 inches and a height of 5 inches. Around the perimeter of the text, Christina wants to have a red border of width r and a purple border of width p. Find an expression for the perimeter of the completed invitation. 






(2 points)


25.
A market analyst has projected that the cost of producing d dog leashes will be given by the polynomial 11,500 + 3.9d. The revenue generated from the sale of d dog leashes will be given by the polynomial d(12.5 – 0.00005d). (a) Find a polynomial expression for the profit earned from producing and selling d dog leashes. (b) Evaluate the expression for d = 22,000.




(2 points)
